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[PHYSICS]

1. (c)

2.
2

2 2
f i

1 1 1Z R
n n
 

    
For first line of Lyman  series,

ni = 2, nf = 1 , R = 10967800 m–1 Z = 11

2 7
2 2

1 1 1(11) (1.09678 10 )
1 2
       

 2

1216 Å.
(11)

 

3. (b)
4. When  an electron makes a transition from any higher level to n = 1 level, ultraviolet light is emitted. When an

electron jumps from any higher  level to n = 2 level, visible light is emitted. X-rays are emitted when one of the electrons
frome some inner shell of the atom is knocked out and the vacancy, so created is filled up by jumping of the electron
from the higher energy shell. On the other hand,
-rays emitted from the nucleus of an atom.

5. (a)
6. (a)
7. We know that n gives the average distance of an electron from nucleus and corresponds to the principal

energy level to which energy belongs l determines the shape of the orbital and the energy associated with the
angular momentum of the electron. Therefore, energy of an electron is decided by n and l.
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17. Stopping potential is that negative potential for which photo electric current is zero.
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19. Ga has a valancy of 3.
20. Aluminum is trivalent impurity.


